Calculus -2
Test -1
Review

Name

Evaluate the integral.

1) f e2X x2 dx

2) f (5x + 3) e=2X dx

3) f 9 dx
\/9 - 81x2

5
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V2 e
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1

3
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/16
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Integrate the function.

13) f 44 dx
xz'\/x2 +16

Ly
0 \16-x2
X2
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2x2

16)IL
x'\/36x2 - 64

Use a trigonometric substitution to evaluate the integral.

17) f _dx
x (1 + 64 In2x)

1
eX dx
18) f 9 - e2X
0 -e

Express the integrand as a sum of partial fractions and evaluate the integral.

5x +16
19) f dx
x3 +4x2 + 4x

dx
20) f x2(x2 - 25)

2
1 f 2x4 +x+ 10 dx
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Evaluate the improper integral or state that it is divergent.

2)f x2 25

* -1
23) f 36(1 + tan—1x) dx
0 1+x2

Evaluate the improper integral.

24)f _dx
0 \36-x2
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